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101 00) 0T 1LY 0 15 SO
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3. KoHTposibHBIC 3a/laHWsI WJIM WHBIE MaTepHasibl, HEOOXOIUMBIC ISl OLICHKH
3HAHWH, YMEHU, HABBIKOB W (WJIM) OMbBITA ACSATEIBHOCTH, XapaKTEPU3YIOIINX
sTambl POPMUPOBAHUS KOMIICTCHIIUNA B MPOIIECCE OCBOSHUSI 00pa30BaTeIbHON
IpOTPaMMBbI

4 Meronu4yeckue MaTepHaibl, ONPEICISIONINE TMPOIEIypbl  OIICHUBAHUS
3HAHWM, YMEHUW, HABBIKOB U (WJIM) OMbBITA JACSITEIBHOCTH, XapaKTEPU3YIOIINX
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1. IlepeyeHb KOMIIETEHUHMH ¢ yKa3aHueM 3TanoB uUX (GopMHUPOBaHHMS B Ipolecce
O0CBOEHUSI 00Pa30BaTEJIbHON MPOrpaMMbl

Kox 1 HanMeHoBaHne KOMIIETEHIINHA

Otanbl HOPMUPOBAHHS

CIIK-1.

JIMHTBUCTHUYCCKHUX
(hOHETHUYECKUX,

CII0OBOOOPA30BaTEIbHBIX
3aKOHOMEPHOCTSX (YHKIIMOHUPOBAHUS SI3BIKOB MHpa

CriocobeH

MPUMCHSTh
3HAHUNA 00
JIEKCUYECKUX,

rpaMMaTH4Y€CKuXx,
SABJICHUAX (¢}

CUCTEMY
OCHOBHBIX

1.PaboTa Ha yueOHBIX 3aHATHSIX
2.CamocrosTenbHas pabora

CIIK-3.
anmnapar

JIMHTBUCTHKH,
MEKKYJIbTYpPHOH

Crioco0eH  HCIIOJIB30BaTh

TEOPETUYECKOMN 51

NEepCBOAOBCACHU,
KOMMYHHKAUKU  [JIA

HpO(I)CCCI/IOHaJ'ILHBIX 3aJa4

HOHITUUHBIN
MPUKJIATHON

TEOpun
pelieHus

1.PaboTa Ha yueOHBIX 3aHITHUIX
2.CamocTosiTenbHas pabota

2. Omnucande moka3zartejed H KPUTEPUEB OUCHUBAHUA KOMIIeTEHIIMH Ha PA3JIHYHBIX

Tanax ux (popMHPOBAHUS, ONIMCAHUE KA OLEHNBAHUSA

OuenuB | YpoBeHb Jdran Onucanue Kpurepun HIkana
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OLICHUBAHUS
YpPOBHE, T
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CHHOHHUMHYECKH
MPAKTUIECKOTO
€ JIEKCHUYECKHE [IpakTHueckoe
CIIK-1 3a7aHus
CpeacTBa 3ajaHue A
BBIpAKEHUS,
MIpUHAJISKAIIHE Hoknaz
Pa3IMYHEIM [kara
peructpam OLICHNBAaHUA
001IIeHUS, JIOKJIa1a

¢bpazeonoruio u
NANOMATUKY
COOTBETCTBYIOII
ero si3bIKa
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yueOHBIX
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CUHOHUMUYECKH
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BBITTOJTHEHHS
MPAKTUYECKOTO
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[Ikama
OLICHUBAHUA
JOKJIana
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YMerTh:

MNPUMCHATH
IIOJIYUCHHBIC
3HAaHUA IJI51
pereHus
npogeccuoHab
HBIX 3a]1a4

Baanern:

CucrteMHBIM
TIOJIXO/IOM TIPH
pelieHun
MOCTABJICHHBIX
3a7a4 B
n30paHHOMN
npodeccroHab
HOM cdepe.

[IIkana
OILIEHMBAHUA
IoKJIazga

Onucanne mKaJj OleHHBaHHAS

1. llIkaJyia onleHNBAHUSA TECTUPOBAHMS

Kpurepuu oueHuBanus

Banabl

BelnonnHeHo nmpaBuiIbHO Kak MUHUMYM 80% 3amanuii

26 0ayUI0B/OTINYHO

BrinonHeHo npaBuiibHO Kak MUHUMYM 60% 3aganuil

23 Gara/xoporio

BoinosiHeHo nmpaBuiibHO Kak MUHUMYM 40% 3ananuii

16 6a10B/yAOBIETBOPUTEIHLHO

Brinonneno npaBunsHo MeHee 40% 3anaHuit

12
0aJJIOB/HEYAOBIETBOPUTEIHLHO

2. [lIkaJjia omeHNBAaHNA BBLINOJTHEHUA NPAKTUYE€CKOIo 3a1aHus

Kputepun onenuBanus

Bajaasl

BrinonHeHo npaBmiibHO Kak MUHUMYM 80%
IPEUI0KEHHOT O 331aHUs

26 0aJUI0B/OTIMYHO

BrinonHeHo npaBuiibHO Kak MUHUMYM 60%
IPEUI0KEHHOT O 331aHUs

22 Ganna/xoporio

BoinonneHo npaBuiibHO Kak MUHUMYM 40%
NpPEeATI0KEHHOTO 3aJaHUS

18 6am10B/yI0BIETBOPUTEIHEHO

Brimonneno npaBunibHo MeHee 40% mpeaioKeHHOTO
3aJaHU

12
0aJI0B/HEYAOBIETBOPUTEIHHO

3. [IIkajia oneHUBaHUA JOKJIAAA

Kputepun onenuBanus

Baaasl

IIpencraBneHHbIN JOKIA]

28 0aJUI0B/OTIIMYHO




CBUACTCIILCTBYCT O ITPOBCACHHOM CaMOCTOATCIIBHOM
HCCIICA0OBAHNU C IIPUBJICUCHUCM PA3JIMYIHBIX HCTOYHHUKOB

uHpOpMaLNH; BO BpeMs BBICTYIUICHUS
IIPOJEMOHCTPUPOBAHBI

KOMMYHHUKATHBHbIE U pe(hJICKCHBHbBIC YMECHHUS.

IIpencraBneHHbIN HOKIAN 22 Ganna/xopoIo

CBUACTCIILCTBYCT O IMPOBCACHHOM HUCCIICAOBAHUHA C
MPUBJICYHCHUECM PA3JIMYHBIX HCTOYHHKOB I/IH(I)OpMaI_II/II/I,
OJHAaKO HCCICIOBAaHHUEC BBIIIOJHCHO HE CaMOCTOATCIIBHO,
AONYIICHBI OIIMOKHU B HU3JIOKEHUH Marcpuraia

[IpencraBieHHbIN JTOKJIaJ] CBUJETEIBCTBYET 0 | 18 6am1oB/y10BIETBOPUTEINBEHO
MPOBEJCHHOM HMCCIIEIOBAaHUH, OJTHAKO CJIa00

OTpakaeT 3HAKOMCTBO C TPEIMETOM/HE COOTBETCTBYET
TEME WCCIEIOBaHUs, WCCICIOBaHNE BBHIOJHEHO HE
CaMOCTOATCIIbHO, OOIMYUICHBI OIMIMOKK B HW3JI0KEHUHU
Marepuana

[IpencraBieHHbI OKIAX HE OTpakaeT 3HAKOMCTBO c | 12

IpEeIMETOM/HE COOTBETCTBYET TeME HCCIel0BaHus, | 0alsIoOB/HEYI0BIETBOPUTEIHHO
UCCIICIOBAHME  BBIIOJHEHO  HE  CaMOCTOSITEINIBHO,
JONYILIEHbI OIIKUOKHU B M3JI0’)KEHHH MaTepuaa

3. KoHTpoJ/ibHBIE 32JaHUSl MM WHbIE MaTepHAJIbl, He0O0X0AMMBbIe I OLECHKH 3HAHUIA,
YMEHUii, HABBIKOB M (WJM) ONBbITA [1eATEJbHOCTH, XAPAKTEPHU3YKIOIIMX 3TANbI
(opMupoBaHHsa KOMIIETEHINH B IIpoLiecce 0CBOCHHS 00pa30BaTeIbHON MPOrpaMMBbl

Tekymuii KOHTPOJIb

CIIK-1. CrniocobeH NpUMEHATh CUCTEMY JIMHIBUCTMYECKHX 3HAaHUH 00 OCHOBHBIX
(oHeTHUECKUX, JIEKCHUYECKHX, TIpPaMMaTHYECKUX, CJIOBOOOPA30BATENbHBIX SBJICHUAX O
3aKOHOMEPHOCTAX (PYHKIMOHUPOBAHHS S3BIKOB MHPA.

3HAaTh: OCHOBHBIE OCOOCHHOCTH (POHETHUUECKOM, JTEKCUYECKON, TPaMMaTHUECKOM MOICUCTEM
aHTJIMIICKOrO S3bIKa; 0a30Bbl€ MOHATHUS, ONMCHIBAIOUINE EAMHULBI CETMEHTHOTO M
CYNpPACErMEHTHOTO YPOBHsI; OCHOBHBIE IIOJIOKEHUSI TEOPUHU JIEKCUKOJIOTMH AHIJIMHCKOIO
s3blKa; 0a30BbIE  CTPYKTYpHbIE€ €IUMHUIBI  AHIVIMHCKOrO  s3bIKa, HX CBOWCTBA,
3aKOHOMEPHOCTHU UX (YHKIIMOHUPOBAHUS.

YMeTh: pacKkpbIlBaTh CHCTEMHBIM XapakTep 3BYKOBOI'O CTpOS sI3blKa; aHAJIU3UPOBaTh U
COIOCTABJISAITh PA3IMYHbIE TOAXObl K U3YUEHHUIO OTJCIBHBIX (POHETUYECKHX, JEKCHUECKHUX,
IrpaMMaTUYEeCKUX SIBICHUM, BBIABUHYTHIE IPEACTABUTEISIMU BEAYIIUX 3apyOCKHBIX U
OTEYECTBEHHBIX JIMHIBUCTUYECKHX ILIKOJI U HAIIPABJICHHH.

Biagers: CHUCTEMHBIM TOIXOJOM TIPH pPEIICHHH IOCTABJICHHBIX 3a/1ad B HW30paHHOU
npodeccroHansHoM chepe.

3aoanusn, neodxooumovle 0na oyenusanusn chopmuposannocmu CIIK-1 na nopozosom u
HPOOBUHYMOM YPOGHSX.

IIpumepHbIe TEeMBbI 10KIAT0B




1. ITpeamet Teopum nepeBoa.

2. Mecto B cucTeMe TUHTBUCTUYECKUX HAYK.

3. CTpyKTypa npouecca CHHXpOHHOTO IIEPEBOAA.

4. KOHTUHYQJIbHO-TUCKPETHBIN XapaKTep Mpoliecca CAHHXPOHHOTO MEPEeBO/Ia.

5. IlonsTue nepeBoa Kak akTa MEXbsI3bIKOBOM KOMMYHHUKAIUU.

6. OTnuyme OT APYTrUX BUAOB S3IKOBOTO MOCPETHUYECTRA.

7. OCHOBHBIE MOJIEIIU TIEPEBOAA

8. TpanchopmanmoHHasi u JeHOTaTUBHAS (GYHKIIUH TEPEBOIA

9. [IpuuunHBL, BBI3bIBAIOIINE TPEOOPA30BAHUE CTPYKTYPHI U COACPKAHUS OPUTHHAIIA.
10. IlprunHsl, BeI3bIBaIOIINE IPEOOPA30BaHUE COJEPKAHUS OPUTHHATIA.

TecroBble 3a7aHUA HMCIOIB3YIOTCS OOYYAIONIUMHUCSA NPH MOBTOPECHUM MaTepuana u
IIOArOTOBKE K Ca4e 3a4eTa 110 AUCLHUIIIMHE.

IIpumepHoe TecTHpOBaHME
Oobpasey 3a0anua na nepeeoo c rucma:

Interviewer: You were involved in a very large acquisition recently. What are the
essential preparatory steps for a successful acquisition?

Nigel Portwood: The first step is to ensure that you have a strategy, a very clear
strategy. You need to know where you want to compete, which markets; how you want to
compete; and how you will get competitor advantage over the other players in the market.
From that strategy you should understand which other companies in the market will help you
achieve your objectives. Your other alternative, of course, is not to buy another company, but
just to try and build a successful position on your own, through investment. But, assuming
that you can find a candidate that you would like to acquire, the next essential step is to
analyse that company — to understand its products, where it get its sales from, who its
customers are, and what its cost structure is. You then need to think how, if you own that
company, you would invest in it, and what the financial consequences of that would be.
Because the third step is to essentially work out how much this company is worth, and you
need to worry about two prices there. The first is what is it worth to the current owners, and
the second is what is it worth to you? And the difference should be driven by the synergy that
you see, that is, the benefits that you can bring to the company through your ownership. And
er, we all spend lots of time analysing the projections for the company to try and arrive at a
valuation. And the final step, of course, is just working out your tactics as to how you are
going to buy this company - whether it be your pricing tactics or the way in which you
approach the current owners.



TecTupoBaHue Ha aHIVINHCKOM fI3bIKe

HNPUMEP TECTOBOI'O 3AJAHUA 11O JUCHUIIJIMHE
CHHXPOHHBIH NepeBoJ

TecTnl (Bapuanr 1)

Listening Comprehension

In this section of the test, you will have an opportunity to demonstrate your ability to
understand conversations and talks in English. There are three parts to this section with
special directions for each part. Answer all the questions on the basis of what is stated or
implied by the speakers in this test. You are not allowed to take notes or write in your test
book.

Part A

Directions: In Part A, you will hear short conversations between two people. After
each conversation, you will hear a question about the conversation. The conversations and
questions will not be repeated. After you hear a question, read the four possible answers in
your book and choose the best answer. Then, on your answer sheet, find the number of the
question and fill in the space that corresponds to the letter of the answer you have chosen.

Here is an example.
On the recording, you hear:
In your test book, you read:

(A) He doesn't like the painting either.

(B) He doesn't know how to paint.
(C) He doesn't have any paintings.
(D) He doesn't know what to do.

You learn from the conversation that neither the man nor the woman likes the
painting. The best answer to the question ""What does the man mean?'" is (4), "He doesn't
like the painting either." Therefore, the correct choice is (A).

1. (A) Drive the woman to the store.

(B) Move the woman's car.

(C) Get his car out of the woman's way.
(D) Park his car in the driveway.

2. (A) He agrees with the woman's choice.
(B) He doesn't want spicy food.

(C) He wants the salad to be fresh.

(D) Garlic is his favorite flavor.

3. (A) He's not the one to blame.

(B) Somebody just left.

(C) He has been looking for the key.
(D) Somebody is knocking at the door.
4. (A) Wipe the snow off his boots.

(B) Turn on the radio.

(C) Unpack his suitcase.

(D) Take his boots with him.

5. (A) She doesn't think the news is bad.
(B) She heard the news quite recently.

(C) She is the only one who has heard the
news.

(D) She found the newspaper article
earlier.

6. (A) She took a lot of photographs.

(B) She'd like to take many more
vacations.

(C) She missed taking many of the pictures
she wanted.

(D) She spent too much money on her
vacation.

7. (A) Driving would be cheaper than
taking the train.

(B) The train is faster than traveling by
car.

(C) They should cancel the trip.

(D) It would be a good idea to start driving
early.



8. (A) She's studying for an accounting
exam.

(B) She's been working in the library a lot.
(C) She'll be going to the library after her
exams.

(D) She has more exams than he does.

9. (A) He's already too hot.

(B) He hasn't received a fuel bill yet.

(C) He can't afford to turn the heat up.

(D) He has no more sweaters.

10. (A) Drive to work.

(B) Go to the golf course.

(C) Try to fix the car.

(D) Take care of himself.

11. (A) She probably won't go to the
dinner.

(B) She doesn't know what time the dinner
is.

(C) The dinner won't last too long.

(D) It's time that Arthur retired.

12. (A) He'll telephone again at lunchtime.
(B) He didn't have time for lunch.

(C) He had wanted to ask the woman out.
(D) He didn't have the woman's phone
number.

13. (A) He lives near the woman.

(B) The woman should come to his house.
(C) The woman should take today off.

(D) He can't keep their appointment.

14. (A) The bookshelf won't fit in the
kitchen.

(B) The man will give the woman some
books.

(C) The woman will help the man soon.
(D) The man doesn't know where to put
the bookshelf.

15. (A) Put a stamp on his letter.

(B) Make his letter shorter.

(C) Keep working on the letter.

(D) Send the letter as it is.

16. (A) He's very hungry.

(B) He doesn't like fish.

(C) He doesn't have much appetite.

(D) He likes to eat most things.

17. (A) Find a part-time job as a tutor.

(B) Meet him after work to study.

(C) Use her salary to pay the tuition.

(D) Allow herself plenty of time for
studying.

18. (A) She wanted the man to read the
book.

(B) She no longer needed the book.

(C) She had been looking for the book.

(D) She thought the man's book was
wonderful.

19. (A) She had a hard day yesterday.

(B) She needs to make more coffee.

(C) She drinks too much coffee.

(D) She wasn't able to see him yesterday.
20. (A) He used insect spray to control the
mosquitoes.

(B) He was wearing short sleeves when he
got bitten.

(C) He finds working in the garden
relaxing.

(D) Some plants in the garden irritated his
skin.

21. (A) The audience seemed to like the
concert.

(B) She was satisfied with her seat.

(C) More people attended the concert than
expected.

(D) She was pleased to be asked to
perform.

22. (A) She got caught in the rain.

(B) She took the wrong bus.

(C) Some tea spilled on her.

(D) Her laundry didn't dry.

23. (A) The tutor wasn't seriously hurt.

(B) She could tutor the man in math.

(C) It's a good idea to get a tutor.

(D) She's sure Professor Anderson is a
good tutor.

24. (A) He doesn't like the newspaper job.
(B) He isn't enthusiastic about his job.

(C) He will leave his job if he's not
promoted.

(D) His job is going well.

25. (A) Laura probably spoke with
Donald.

(B) He'll give the message to Laura.

(C) He took a message for Laura.

(D) Laura wasn't able to reach Donald.

26. (A) She promises to help the man learn
physics.

(B) She can't find the article she has to
read.

(C) She found the conclusions to be very
promising..



(D) She disagrees with the article's logic.
27. (A) She doesn't know much about
painting.

(B) She should have started sooner.

(C) She ought to know when the class
begins.

(D) She worries too much.

28. (A) Learn more about caring for cats
before bringing one home.

(B) Choose a good name for the kitten.

(C) Give the cat away since he can't keep
it.

Part B

(D) Keep the kitten in his dorm room.

29. (A) They don't usually get much mail.
(B) They just moved to a new address.

(C) They pick up their mail at the post
office.

(D) They are looking forward to receiving
the letter.

30. (A) He goes to every movie that comes
out.

(B) He would go with her to the movie.

(C) He had already seen the movie.

(D) He wasn't going to go to the movie.

Directions: In this part of the test, you will hear longer conversations. After each
conversation, you will hear several questions. The conversations and questions will not be

repeated.

After you hear a question, read the four possible answers in your book and choose the
best answer. Then, on your answer sheet, find the number of the question and fill in the space
that corresponds to the letter of the answer you have chosen.

Remember, you should net take notes or write on your test pages.

31. (A) The students needed off-campus
jobs.
(B) The theater department needed more
talented students.
(C) The opera company was looking for
volunteers.
(D) The new dean thought it would
provide good experience for the students.
32. (A) Work with an opera troupe.
(B) Work part-time for the dean.
(C) Perform on the radio.
(D) Submit their suggestions to the dean.
33. (A) A good singing voice.
(B) A commitment to the project for two
semesters.
(C) An academic concentration in theater
arts.
(D) A certain grade point average.
34. (A) To choose a topic for a term paper.
(B) To type some research materials.

Part C

(C) To find material not available at the
main library.

(D) To learn to use the computers there.
35. (A) An analysis of early presidential
elections.

(B) A comparison of political journals.

(C) The use of computers in calculating
election results.

(D) The impact of television on recent
presidential elections.

36. (A) It is quite general.

(B) Most of the information he needs will
be found in newspapers.

(C) She thinks he should change it.

(D) It should take a very short time to find
material on it.

37. (A) Travel to that library to get it.

(B) Pay to use it.

(C) Read it in the graduate school library.
(D) Order the material from the publisher.

Directions: In this part of the test, you will hear several short talks. After each talk,
you will hear some questions. The talks and questions will not be repeated.

After you hear a question, read the four possible answers in your book and choose the
best answer. Then, on your answer sheet, find the number of the question and fill in the space
that corresponds to the letter of the answer you have chosen.

Here is an example.
On the recording, you hear:



Now listen to a sample question.

In your test book, you read:

(A) To demonstrate the latest use of computer graphics.

(B) To discuss the possibility of an economic depression.

(C) To explain the workings of the brain.

(D) To dramatize a famous mystery story.

The best answer to the question "What is the main purpose of the program?' is (C),

""To explain the workings of the brain."” Therefore, the correct choice is (C).

Now listen to another sample question.
In your test book, you read:
(A) It is required of all science majors.

(B) It will never be shown again.

(C) It can help viewers improve their memory skills.

(D) It will help with course work.

The best answer to the question "Why does the speaker recommend watching the
program?' is (D), "It will help with course work." Therefore, the correct choice is (D).
Remember, you should net take notes or write on your test pages.

38. (A) Advice about landscaping.

(B) Hints about saving to buy a house.

(C) Photographs of the homes of famous
people.

(D) Plans for houses.

39. (A) Nineteenth-century American
painting.

(B) American architectural history.

(C) Introduction to economics.

(D) Eighteenth-century American society.
40. (A) There was a shortage of architects.
(B) They included plans for elaborate
houses.

(C) Builders could not work without one.
(D) They were relatively inexpensive.

41. (A) People who restore old houses.
(B) People who sell houses.

(C) People who design new houses.

(D) People who want to buy a house.

42. (A) To study its geography.

(B) To help at an archaeological dig.

(C) To take a vacation with friends.

(D) To do research for a physics project.
43. (A) Its shape.

(B) Its size.

(C) Its location.

(D) Its brightness.

44. (A) Smaller circles.

(B) Bands of color.

(C) "Alarge white disc.

(D) Curved legs of light.

45. (A) It had never been seen before.

(B) It was in the student's imagination.

(C) It would stay there for days.

(D) It was fairly common.

46. (A) A halo.

(B) A sunspot.

(C) A sun dog.

(D) A rainbow.

47. (A) Nursing students.

(B) Undergraduate college students.

(C) The graduating class at a medical
school.

(D) First-year medical students.

48. (A) More people would apply to
medical school.

(B) Understaffed areas would gain more
physicians.

(C) Students would finish medical school
in three years.

(D) More students would enter specialty
areas.

49. (A) Practical experience.

(B) Extra income.

(C) Course credit.

(D) Tuition reduction.

50. (A) It's difficult to get to know one's
patients.

(B) Income tends to be relatively low.

(C) It's difficult to gain the respect of the
community.

(D) There is very little business for
specialists.



Now get ready to answer the questions.

51. What are the speakers mainly
discussing?

A) Their plans for next semester

B) Why the woman can't go to the concert
C) Their favorite band

D) Finding a tutor

52. What will the woman do on Saturday?
A) Teach a class.

B) Mark tests.

C) Visit her cousin.

D) Go to a concert.

Listen again to part of the conversation. Then answer the question.

53. What does the woman mean when she
says this?

A) She thinks he should treat her with
more respect.

B) She plans to teach university.

C) She thinks Professor Mathers is not
kind.

D) She thinks she'll be as good a teacher as
Professor Mathers.

54. What can be inferred from the
conversation?

A) The woman never works on weekends.
B) The man and woman take the same
courses.

C) The speakers live in the same dorm.

D) The man stayed after class for help.

55. How does the male student feel about
the woman's weekend plans?

A) He feels sorry for her.

B) He is excited for her.

C) He is worried about her.

D) He is jealous of her.

Now listen to part of a lecture from a environmental science class

Now get ready to answer the questions.

56. What is the main topic of the
discussion?

A) Harmful televisions

B) A landfill concern

C) Computer equipment

D) Recycling films

57. What makes monitors hazardous to the
environment?

A) SRT's

B) X-rays

C) Cathode ray tubes

D) Landfills

58. According to Lisa, why can't monitors
be recycled?

A) They are too expensive to reuse.

B) There are no companies that provide
this service.

C) People are too lazy to take them to
recycling plants.

D) Companies prefer to store them for
future use.

Listen again to part of the discussion. Then answer the question.

59. What does Lisa mean when she says
this:

A) Her family has thrown monitors in the
garbage.

B) Her family owns a lot of television sets.
C) Her family feels bad about how much
TV they watch.

D) Her family doesn't care about the
environment.

60. What will the class do next?

A) Visit a landfill site.

B) Dissect a computer monitor.

C) Watch another film.

D) Review the film about monitors.



OTBETBI K TECTY

1.C;2.B;3.A;4.D;5.B;6. A; 7. A; 8.B; 9. C; 10. C; 11. A; 12. C; 13. B; 14. C;15. C;
16. C; 17. D; 18. C; 19. A; 20. B; 21. A; 22. A; 23. C; 24. B; 25. A; 26. D; 27. B; 28. C; 29. B;
30. D; 31. D; 32. A; 33. C; 34. C; 35.D; 36. A; 37. C; 38. D; 39. B; 40. D; 41. A; 42. B; 43. A;
44. C; 45. D; 46. C; 47. D; 48. B; 49. A; 50. B; 51. B; 52. B; 53. B; 54. D; 55. A; 56. B; 57. C;
58. B; 59. B; 60. C;
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IIpuMep NpaKTHYECKOTO 3aaHUA

IIpuMepHOe TeCTUPOBaHUE

1) Oopasey 3a0anun na nepesoo c iucma:

Interviewer: You were involved in a very large acquisition recently. What are the
essential preparatory steps for a successful acquisition?

Nigel Portwood: The first step is to ensure that you have a strategy, a very clear strategy.
You need to know where you want to compete, which markets; how you want to compete; and
how you will get competitor advantage over the other players in the market. From that strategy
you should understand which other companies in the market will help you achieve your
objectives. Your other alternative, of course, is not to buy another company, but just to try and
build a successful position on your own, through investment. But, assuming that you can find a
candidate that you would like to acquire, the next essential step is to analyse that company — to
understand its products, where it get its sales from, who its customers are, and what its cost
structure is. You then need to think how, if you own that company, you would invest in it, and
what the financial consequences of that would be. Because the third step is to essentially work
out how much this company is worth, and you need to worry about two prices there. The first is
what is it worth to the current owners, and the second is what is it worth to you? And the
difference should be driven by the synergy that you see, that is, the benefits that you can bring to
the company through your ownership. And er, we all spend lots of time analysing the projections
for the company to try and arrive at a valuation. And the final step, of course, is just working out
your tactics as to how you are going to buy this company - whether it be your pricing tactics or
the way in which you approach the current owners.



CIIK-3. CnocobeH uCHoiab30BaTh MOHATUHHBIA anmapaT TEOPETUYECKOM W MpPUKIATHON
JMHTBHUCTHKH, TEPEBOJOBEACHHS, TEOPUM MEXKKYJIbTYPHOW KOMMYHHMKAIIMH JUIS PEIICHUS
npodeCCHOHATBHBIX 33124

3HaTbh: OCHOBHBIC TMOHSATHUS TEOPETUUYECKOW M MPUKIATHOW JIMHIBUCTHKH, MEPEBOJOBEICHUS,
TEOPUHU MEXKKYJIBTYPHOU KOMMYHHUKAIIUN

YMeTh: NpUMEHAThH NOTy4YeHHbIE 3HAHUS I pelieHus: Ipo(deCCHOHATBHBIX 3a7a4

Baagerb: CucTeMHBIM MOAXOAOM NIPU PEIIEHWH TOCTAaBIEHHBIX 3a7ad B H30paHHOMU
npodeccroHaIbHOM chepe.

I[IpumepHbIe TeMBbI I0KIAT0B

1. TlonsiTue U CTpyKTypa coaepKaHus TEKCTA.

2. ACHIeKTHI IIepeBO/Ia, CBA3AHHBIC C SI3BIKOBBIMH (DaKTOpaMHu.

3. [Ipotecc nmepeBojia B CBETE Pa3IMYHBIX JUHTBUCTUYECKUX TCOPHUH.
4. CocTapisiolue NepeBoA4eCKo KOMIETEHIUH.

5. IloHsTHE SKBUBAJIEHTHOCTH.

6. OCHOBHBIE KOHIIEIIIIMHA DKBUBAJIEHTHOCTH.

7. PaznuuHble MOJEIN BUIOB 3KBUBAJICHTHOCTH.

8. PaznuuHble MOAEIN YPOBHEN SKBUBAJIEHTHOCTH.

9. Bunel nepeBogueckux Tpancopmaiuii u GakTopsl, 00yCIOBIHUBAIOIINE UX TPUMEHEHHUE.
10. ITparmatnueckue acieKThl NEPEBOIA.

IIpumepHsbIii 00pasen TecTa

TecTnl (BapuaHT 2)

Listening Comprehension

In this section of the test, you will have an opportunity to demonstrate your ability to
understand conversations and talks in English. There are three parts to this section with special
directions for each part. Answer all the questions on the basis of what is stated or implied by the
speakers in this test. You are not allowed to take notes or write in your test book.

Part A

Directions: In Part A, you will hear short conversations between two people. After each
conversation, you will hear a question about the conversation. The conversations and questions
will not be repeated. After you hear a question, read the four possible answers in your book and
choose the best answer. Then, on your answer sheet, find the number of the question and fill in
the space that corresponds to the letter of the answer you have chosen.

Here is an example.

On the recording, you hear:

In your test book, you read:

(A) He doesn't like the painting either.



(B) He doesn't know how to paint.
(C) He doesn't have any paintings.
(D) He doesn't know what to do.

You learn from the conversation that neither the man nor the woman likes the
painting. The best answer to the question "What does the man mean?" is (A), ""He doesn't like
the painting either."” Therefore, the correct choice is (A).

1. (A) He makes a lot of money.

(B) He has just been left some money.

(C) He doesn't believe three hundred dollars
is enough.

(D) He can't afford to spend that much.

2. (A) He knows what is wrong with the
watch.

(B) The woman doesn't need to buy another
battery.

(C) The woman should get a new watch.
(D) The jewelry store can probably repair
the woman's watch.

3. (A) He has another meeting to attend on
that day.

(B) He's available either day.

(C) He can't attend a two-day conference.
(D) Not everybody will go to the same
meeting.

4. (A) Go to the beach with her friends.
(B) Postpone her meeting with Professor
Jones.

(C) See Professor Jones after class.

(D) Give a speech in Professor Jones's class.

5. (A) She isn't a very good student.

(B) She hasn't gotten her grades yet.

(C) She shouldn't worry about her grades.
(D) She doesn't like to talk about grades.

6. (A) The classes have improved his health.

(B) His new glasses fit better than the old
ones.

(C) He's thinking of taking exercise classes.
(D) He's unhappy about his life.

7. (A) She also found the book difficult.
(B) She has learned a lot about names.
(C) She doesn't remember the title of the
novel.

(D) She read a different book.

8. (A) They'll have to go to a later show.
(B) The people in line all have tickets.
(C) She doesn't want to go to the second
show.

(D) They won't have to wait much longer.
9. (A) If it's too late for her to drop the
course.

(B) If she sympathizes with him.

(C) If she apologized for what she did.

(D) If she regrets taking the course.

10. (A) She'll be traveling during winter
break.

(B) She'll be working during vacation.

(C) She's looking forward to going home.
(D) She wants to hire another research
assistant.

11. (A) He's glad he called the doctor.

(B) He wants to change the appointment.
(C) He can't come until 4:15.

(D) He was confused about the date of the
appointment.

12. (A) No one believes he won the
scholarship.

(B) He's surprised that he got the
scholarship.

(C) It isn't true that he won the scholarship.
(D) He's glad to award the woman the
scholarship.

13. (A) During economics class.

(B) Before economics.

(C) In about an hour.

(D) The next day.

14. (A) The nurse wasn't able to help her.
(B) She's going to help the nurse as soon as
she feels better.

(C) She thinks she should ask the nurse for a
pill.

(D) She feels sleepy because of the medicine
she took.

15. (A) Whether she can make a proposal.
(B) Whether Bill needs her help.

(C) Whether she can review Bill's summary.
(D) Whether she can speak for Bill.

16. (A) He can't wear the shirt right now.
(B) He can't find the shirt.

(C) He doesn't like the shirt.

(D) He thinks the shirt is inappropriate for
the occasion.

17. (A) He has three classes in a row.

(B) His class begins at one o'clock.

(C) His class meets for three hours.

(D) He will be in class all afternoon.

18. (A) The team won despite poor play.



(B) The team has to play at least one game.
(C) At least the football team played well.
(D) The team should have won the game.
19. (A) She needed warmer clothing than in
previous summers.

(B) She knitted two sweaters in August.

(C) August was warmer than the rest of the
summer.

(D) She was unusually busy all summer.
20. (A) If the man is going to the store.

(B) How the man feels about the news.

(C) If the man is going to lose his job.

(D) Where the man heard the news.

21. (A) It will be ready at four o'clock today.
(B) It can be picked up at two o'clock
tomorrow.

(C) It will be ready in two hours.

(D) Only two rolls will be ready on time.
22. (A) He'll go to the party with the
woman.

(B) He met the man at the party.

(C) He has changed his plans.

(D) He has to work late.

23. (A) Pay for some of the food.

(B) Insist on choosing their own food.

(C) Treat Gary to dinner some other time.
(D) Thank Gary for his generous offer.

24. (A) She used to work at a newspaper.
(B) She'd like her supervisor's opinion of her
work.

(C) She wishes she had a different kind of
job.

(D) She meets with her supervisor regularly.
25. (A) She rearranged the chapters of her
book.

(B) She assured him that the chapter was
finished.

Part B

(C) She worked on the chapter for quite a
while.

(D) She wasn't sure how to end the book.
26. (A) There's room to stack up the cans of
coffee.

(B) The store is out of coffee.

(C) They should buy a lot of coffee.

(D) They should wait for a better deal on
coffee.

27. (A) She works very hard.

(B) She is very strict.

(C) Her classes fill up quickly.

(D) It's easy to get good grades in her
courses.

28. (A) The office already mailed the man's
birth certificate.

(B) The office no longer issues birth
certificates.

(C) The man doesn't have sufficient
identification for his request.

(D) The man will have to apply for his birth
certificate in writing.

29. (A) The woman has a choice of early
flights.

(B) Not many planes go to Washington.
(C) The woman should take the earlier
flight.

(D) The six o'clock flight is already filled.
30. (A) She would rather not invite other
clubs to join them.

(B) They should prepare extra refreshments.
(C) The members of the club always eat a
lot.

(D) There was too much food at a previous
meeting.

Directions: In this part of the test, you will hear longer conversations. After each
conversation, you will hear several questions. The conversations and questions will not be

repeated.

After you hear a question, read the four possible answers in your book and choose the
best answer. Then, on your answer sheet, find the number of the question and fill in the space
that corresponds to the letter of the answer you have chosen.

Remember, you should net take notes or write on your test pages.

31. (A) Get a ride home with Nancy.
(B) Find a place to live.

(C) Go to the store before it closes.
(D) Carry his groceries home.

32. (A) He didn't expect to buy a lot.

(B) He had only one bag of groceries.

(C) The supermarket is just down the block.
(D) He thought he'd get a ride with the
Kramers.

33. (A) They are paying for his education.



(B) They invited him to their party.

(C) They took him on a vacation with them.

(D) They let him live with them for free.
34. (A) She was impressed by it.
(B) It was a waste of money.

(C) She was amazed it had .opened so soon.

(D) She didn't like it as much as the other
wings.

35. (A) He took a tour of the city.

(B) He read about it.

Part C

(C) He wrote an article about it.

(D) He worked there as a guide.

36. (A) They came from the original wing.
(B) They're made of the same material.

(C) They're similar in shape.

(D) They were designed by the same person.
37. (A) It was made of aluminum.

(B) It wasn't large enough.

(C) It wouldn't move in the wind.

(D) It was too heavy to put up.

Directions: In this part of the test, you will hear several short talks. After each talk, you
will hear some questions. The talks and questions will not be repeated.

After you hear a question, read the four possible answers in your book and choose the
best answer. Then, on your answer sheet, find the number of the question and fill in the space
that corresponds to the letter of the answer you have chosen.

Here is an example.

On the recording, you hear:
Now listen to a sample question.
In your test book, you read:

(A) To demonstrate the latest use of computer graphics.
(B) To discuss the possibility of an economic depression.

(C) To explain the workings of the brain.
(D) To dramatize a famous mystery story.
The best answer to the question "What is the main purpose of the program?" is (C),

""To explain the workings of the brain." Therefore, the correct choice is (C).

Now listen to another sample question.
In your test book, you read:
(A) It is required of all science majors.

(B) It will never be shown again.

(C) It can help viewers improve their memory skills.

(D) It will help with course work.

The best answer to the question "Why does the speaker recommend watching the
program?'" is (D), "It will help with course work." Therefore, the correct choice is (D).
Remember, you should net take notes or write on your test pages.

38. (A) To review material that will be on a
test.

(B) To introduce a new professor.

(C) To explain changes in the schedule.
(D) To describe the contents of a paper.
39. (A) At the beginning.

(B) In the middle.

(C) One week before the end.

(D) At the end.

40. (A) Administer an examination.

(B) Present a conference paper.

(C) Explain next week's schedule.

(D) Take attendance in class.

41. (A) A regular class will be given.

(B) An optional review class will be given.

(C) An exam will be given.

(D) Class will be canceled.

42. (A) Rock formations in the Nevada
desert.

(B) Graduate studies in anthropology.
(C) Excavation techniques used in
archaeology.

(D) Prehistoric desert people of Nevada.
43. (A) They planned their migrations.
(B) They didn't travel far from their base
camps.

(C) They hid from their enemies in caves.
(D) They planted seeds near their camps.
44. (A) They had trouble finding it.

(B) Lack of light made it impossible.



(C) It was too small for a group to fit into.
(D) Items stored by others took up most of
the space.

45. (A) Prehistoric desert people.

(B) Migratory animals.

(C) Food supplies and tools.

(D) Growing plants.

46. (A) To illustrate the size of some
objects.

(B) To introduce the next assignment.

(C) To show some artifacts on display at the
campus museum.

(D) To demonstrate his photographic ability.
47. (A) A comparison of fish to warm-
blooded animals.

(B) The difference between saltwater and
freshwater environments.

(C) The importance of fish to human beings.
(D) How water has affected the development
of fish.

48. (A) It can't be compressed.

(B) It is often polluted.

(C) Its temperature often fluctuates
dramatically.

(D) It limits their size.

49. (A) A whale.

(B) A human.

(C) A snake.

(D) A snail.

50. (A) Its skeleton.

(B) Its shape.

(C) Its senses.

(D) Its body temperature.

Now listen to part of a lecture from a gemology class.

Now get ready to answer the questions.

51. What is the purpose of this lecture?
A) To compare diamonds and gold

B) To discuss types of gems

C) To discuss the formation of diamonds
D) To review the elements of carbon

52. Which of the following is NOT one of
the 4 C's used by the jewelry business?
A) Carbon

B) Carat

C) Color

D) Cut

53. Where do natural diamonds form?
A) In a manufacturing plant

B) In an electrical insulator

C) Deep in the Earth's mantle

D) Alongside metals such as gold

54. According to the professor, what are
diamonds good for besides jewelry?
A) They can create heat.

B) They can hold heat in.

C) They can damage insulators.

D) They can conduct electricity.

Listen again to part of the lecture. Then answer the question.

55. What does the professor mean when she says this:

A) Nobody will want to buy diamond computer chips.

B) Advertisers will have fun marketing this type of product.

C) Computers will take interest away from the jewelry industry.

D) Jewelers will be competing with programmers.

Now listen to part of a lecture from a environmental science class

Now get ready to answer the questions.



56. What is the main topic of the discussion?

A) Harmful televisions

B) A landfill concern

C) Computer equipment

D) Recycling films

57. What makes monitors hazardous to the environment?
A) SRT's

B) X-rays

C) Cathode ray tubes

D) Landfills

58. According to Lisa, why can't monitors be recycled?
A) They are too expensive to reuse.

B) There are no companies that provide this service.

C) People are too lazy to take them to recycling plants.
D) Companies prefer to store them for future use.

Listen again to part of the discussion. Then answer the question.

59. What does Lisa mean when she says this:

A) Her family has thrown monitors in the garbage.

B) Her family owns a lot of television sets.

C) Her family feels bad about how much TV they watch.
D) Her family doesn't care about the environment.

60. What will the class do next?

A) Visit a landfill site.

B) Dissect a computer monitor.

C) Watch another film.

D) Review the film about monitors.

OTBETBI K TECTY
1.D;2.D;3.B; 4. C; 5. C; 6. A;
15. C; 16. A; 17. C; 18. A; 19. A; 20. C;
D: 29. A: 30. D: 31. D: 32. A: 33. D: 34. A: 3
42.D: 43. A: 44. B: 45. C: 46, A: 47. D: 48, A: 49. C: 50. B: 51.
B; 56. B; 57. C; 58. B; 59. B; 60. C;

TeCTHpOBaHI/Ie Ha KUTallCKOM sI3bIKe

1. 3aN0AHNUTe NPOMYCKM NPOTUBOMONOKHBIMK MO CMbICAy cnoBamn K, X - g, &E 1. /-
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CoeanHNTe NoaxoadALLMeE NO CMbIC/TY BONPOCHI 1 OTBETHI.

1RRENLOAN ? aRkBEEEIM
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LIREERUE? dSXZAZ+IE
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[Ipumep nNpakTHYECKOr0 3a1aHUS

Oobpasey 3a0anua Ha 08yCMOPOHHUITL NEPECOO:

Interview with Mr Vdovin, Commercial Director of Terra Publishers, a major Russian
Priming House

Q: There are heaps of books on your office desk. Do you have to read as part of your
duties or is it your hobby?

A: KoHeuHo, 1aneko He BCe, YTO MbI BBIITYCKaeM, sl UATAI0 — B MPOTUBHOM Cllydae
JUTSE O3HAKOMJICHHS C CUTYaIlueil Ha PBhIHKE MPHUXOJIHU JIOCh ObI «IIPOTJIAThIBATh» 2,5 KHHUTH B
neHb. bosbiryio yacth nH(GOpMaLMK MHE pacCKa3blBalOT CaMU aBTOPBI, TOMOTAOT KOJUIETH.

Q: What takes up most of your time at work?

A: OcHOBHas 4yacTb MOE€H pabOThl — OTO 3aHATHEC MAPKETUHIOM M CBS3SIMU C
o0mecTBeHHOCThI0. CaMoe WHTEpPEeCHOE — OpraHu3alusi TEIEeBU3HMOHHOW MPOrpPaMMBbI
«KHmkHas 1aBka», Ha 3TO YXOAUT OOJIbIIIE BCETO CUII U BPEMEHH.

Q: What is your main incentive? Why did you choose to work here?

4. MeTtoanuyeckue MaTepuaJibl, OINpeaessiloNie NPoueaypPbl OUEHUBAHUSA 3HAHUM,Y
MEHHIi, HABBIKOB W (MJIH) ONBITA [AeATEJbHOCTH, XAPAKTEPHU3YHIIHX JTAIbI
¢GopMupoBaHus KOMIIEeTEHIM A

dopma NpoMeEKyTOYHON aTTECTALUU - 3a4€T B 7 CEMECTPE, 3a4UET C OLICHKON - 8 ceMecTp

B pamkax ocBOeHUS TUCHUTUIHHBI TIPEyCMOTPEHBI clieaytonue GopMbl TEKYIIIETO KOHTPOJIS:
JOKJIaJl, TECTUPOBAHUE, MPAKTUYECKOE 3a/1aHNE

O6mee kommuecTBO 0aiioB mo aucuuruinae — 100 6aos.

MakcumanbHOE€ KOJIMYECTBO OallJIoB, KOTOPOE MOKET HabpaTh OOydJaroIIuiics B
TEYCHHE CeMecTpa 3a TEeKYIIHi KOHTPOIb, paBHsieTcs 80 6amram (7 cemectp) u 70 Gamnam (8
ceMecTp).

[TpoMexyTouHas aTTecTalus MPOBOAUTCS YCTHO TIO BOIIpocaM B opMe 3adeTa/3auera
c oreHkoil. Ha 3adere/3aueTe ¢ OLEHKOW OOYUYaOIIMIACS TOJDKEH JaTh Pa3BEPHYTHIC OTBETHI
HA TEOPETHUYECKHE BOMPOCH. MakCUMalbHOE YHCIO OauioB, KOTOPHIE BBICTABISIOTCS
oOyyaromieMycs o uroram 3adeta, — 20 6aIoB, Mo UTOram 3a4yeTa ¢ oreHkKoi — 30 6aios.

Conep:xanue 3a4eTa/3aqyera ¢ OLEHKOM:
1. Teopernueckuii BONpoc Mo NpoiIEHHOMY MaTEpHUay
2. YCTHBIM MOCIENOBATENbHBIN MEPEeBOJ TEKCTa C MCIOJIb30BaHUEM
CHCTEMBI COKpPAIEHHOM MEPEBOIYECKOM 3aIUCH

Cnucok BONPOCOB K 3a4eTy

1. BBeeHue B TEOPHUIO M MPAKTUKY CHHXPOHHOTO MEPEBOIA
2. IlonsTHE YCTHOTO NEPEBOJIA.

3. Buabl ycTHOTO niepeBoia

4. BBeieHrE B OCHOBBI IIEPEBOIUECKON CKOPOIIUCU



5. Cnenmduka yCTHBIX KaHPOB

6. CTparerus ¥ TaKTHKa UCIIPABJICHUS OMMUOOK B YCTHOM TIEPEBO/IC

7. Oco0eHHOCTH U HIOAHCHI JBYCTOPOHHETO TMepeBoaa

8. Jlekcuueckue Tpanchopmauu

9. 'pammaTHudeckue TpaHnchopmarmm

10. CunTakcuyeckue Tpanchopmaiuu

11. Ctunuctuyeckue 0COOCHHOCTH TEKCTA U MX TIepeava Mpy MepeBoie
12. OcobeHHOCTH 0011IECTBEHHO-TIOTUTHYECKOTO TIEPEBO1a

13. Tlpuemsl iepeBoia MeTapOPUIECCKUX EAMHHI], METOHUMUU U UPOHHUH
14. Tumbl mepeBogYECKUX MOAMGUKAIMI: KOHKpETH3alus / TeHepau3aIus, MOIYJISIIH
(CMBICITOBOE pa3BHUTHE), OIyIICHUE / paCIIHpPEHUE.

15. OcobeHHOCTH MTOATOTOBKH KOMMEHTApHs K TOTOBBIM TIEPEBOAaM

CnHcok BONPOCOB K 324€Ty € OLEHKOM

. CteneHpb U c110COOBI KOMITEHCAIIUHU SI3BIKOBBIX Pa3TUYN.

. [TonHbIN, YaCTUYHBIN, HYJICBOU MTEPEBO] TPaMMaTHYECKUX (HOpM.

. IlonsiTHe QyHKIIMOHAIEHON 3aMEHBI.

. [Ipuembl yrnomo6ieHus, KOHBEPCUU U aHTOHUMHUYECKOTO MEPEeBO/Ia.

. AKTyaJIbHOE YJICHEHHE MTPEIOKEHUS U €T0 BIMSHUE HA IIEPEBOJT

. [IpaBuna BeIOOpa ciocoba nepeBoia

. CuHTakcuueckue rnpeodpa3zoBaHus Ha ypPOBHE MPEIOKEHUH.

. Haimure aBTOpCKOM yCTAaHOBKH Ha YPOBHE MPEIJIOKEHUS

9. HeonpeneneHHOE MHOKECTBO MEPEBOAUECKUX UHTEPIIPETALIUH.

10. TemnopasibHbI€ XapaKTEPUCTUKU JAEATEIBHOCTH CUHXPOHHOTO NIEPEBOTUMKA
11. TTapannenbHOCTh MPOLIECCOB BOCHPHUATHS UCXOJHOTO TEKCTAa M MOPOXKIEHUS TEKCTa Ha
SI3BIKE.

12. CtpoeHue AesTeNbHOCTH CUHXPOHHOTO NIEPEBOAUMKA

13. [IparmaTtudeckas aganTaius nepeBoaa

14. Obmras xapakTepuCcTHKa COBPEMEHHOMN TeopHuH MepeBoa

15. Ilepenada 3Ha4EeHMI SI3BIKOBBIX €IMHUIL B IIEPEBOJIE

03N N KW

TpeGoBanus Kk 3a4eTy U 3a4eTy C OLEHKOI

[Ipu onieHKe 3HaHUM Ha 3a4eTe/3a4eTe C OLEHKOM YUUTHIBAIOTCS:

. IloHumaHue U cTeneHb yCBOEGHUS TEOPUH Kypca.

. YpoBeHb 3HaHUS (PaKTHYECKOTO MaTepraia B 00bEMe MporpaMmel.

. IlpaBubHOCTH (hOPMYITUPOBKU OCHOBHBIX MOHATHH U 3aKOHOMEPHOCTEHA.

. JIoruka, cTpyKTypa 1 rpaMOTHOCTb M3JI0KEHHSI BOIIPOCA.

. Ucnionb30Banue MpuMepoB U3 MOHOTpaduyecKoi IuTepaTyphl (CTaThy,
XpeCTOMaTHH, Xy0’KECTBEHHbIEC IPOU3BEICHNU).

. YMeHue cBsI3aTh TEOPHIO C NPAKTUYECKUM IPUMEHEHHUEM.

. YMeHue cnenats 0000IeHNe, BEIBOIEL.

. YMEHUe OTBETUTh Ha JJOMOJHUTEIbHBIE BOIPOCHI.

. 'my6okoe 1 mpodHO€ yCBOEHHE 3HaHUI MPOrpaMMHOT0 MaTeprana (YMEHHE BBIIEIITh

IJIaBHOE, CYIIECTBEHHOE).

10. 3HaHue aBTOpPOB-UCCIEI0BATENEH IO JaHHOW ITpodieMe.

DN BN WN —

Nellie JBEN o))

IlIkana oueHuBanus 3a4era (7 cemecTp)

Kpurtepun oueHnBaHus basibl

BrictaBnsiercst 3a  oTBeT, KOTOpBIM  jgemoHcTpupyeT | 20-16 Gamios




MPEKpPacHOE 3HAHUE MPEIMEeTa, YMEHUE COCIUHSATH 3HAHHS
W3 Pas3IMYHBIX Pa3ACIoB Kypca, JErKO M 0e30IMO0YHO
UIUTIOCTPUPOBATh TEOPETUYECKUE IIOJIOKEHHS IPUMEPAMU,
KaK B3STHIMH U3 Y4eOHHMKA, TAK U CBOUMHU COOCTBEHHBIMH;
BJIAJICHUE TEPMHUHOJIOTMEN M3 PA3JIMYHBIX PaA3/ENIOB Kypca.
be3ommO0YHO BBHIMONHSAETCS TPAKTUYECKOE 3aJaHue K
ousery.

BricTaBisiercs 3a 0TBET, KOTOPBI JeMOHCTpUpyeT xopoiee | 15-11 Ganos
3HaHHWE U MIOHMMaHUE M3YYEHHOI'0 MaTepHala, MOJKpEIUIEH
OpUMEpaMHU, B3SITBIMM M3 JIEKOUH WM  y4eOHMKa;
JIOMYCKAIOTCSl €IMHUYHBIE OIIUOKH, KOTOPbIE SK3aMEHYEeMBbIii
UCTIPaBIISIET CaMOCTOSITENIHO nocie 3aMe4aHui
IIpenoaaBaTes.

BricTaBnsiercs 3a oTBeT, KOTOpBI OOHapykuBaeT camoe | 10-6 GannoB
o0Iee TOHMMaHNE TEOPUH, OJHAKO, TUIOXO MOAKPEILIIEMOe
MPAKTUYECKUMH mpuMepamu. [Ipy TakoMm OTBeTe CTYACHT
MIPOSIBIISIET HEYBEPEHHOCTb, HE BCerja AT
MCYEPIBIBAIOIINE apTyMEHTHPOBAHHBIE OTBETHI HA 3a/IaHHBIC
BOIIPOCHI, TOMYCKAET OMIMOKHU MpU pa3dope MpaKkTUUeCKOro
3aJlaHusl.

BricTaBmsiercs  3a  OTBEeT, KOTOpBIA  oOHapyxwuBaeT | 5-0 6ayuioB
HEMOHMMAaHHWE CYTH BONpPOCa, SBIASICH MEXaHUYECKHM
MOBTOPEHUEM Kypca JEeKIUi wWin Yy4eOHWKA; HE3HaHUe
TEPMHUHOJIOTHH, UCKAKEHUE

CMBICJIa TIOHATHH; HEYMEHHE COOTHECTH TEOpHI0 C
IIPAKTUKOU.

HTorosas mkaja oueHUBaHUSA MO JUCIHUIIMHE
Htorosas olneHKa CKJIaJbIBACTCS U3 OICHKHU 3a BHIIIOJIHEHHUS BCEX MpeayCMOTPCHHBIX
B IIporpamMme JUCHUIIIMHBI (bOpM OTUCTHOCTH B pPaMKax TCKYLICTO KOHTPOJIA, a TaKKEe
OLICHKHU Ha HpOMe)KYTOQHOfI aTTeCTalnu.

bannibl, mony4yeHHbIE IO TEKYIIEMY OreHka B TpaJUIIMOHHOM crcTeMe
KOHTPOJIIO M MIPOMEKYTOYHOM aTTeCTAlUN
81-100 3a4TEHO
61-80 3a4TEHO
41-60 3a4TCHO
0-40 HE 3a4TEHO

IIkaja oueHnBaHus 3a4eTa ¢ OlleHKOM (8 cemecTp)

Kpurtepuu onenuBanus Banibl

BricTaBmsiercs  3a  oTBeT, KOTOpbI  nmemoHcTpupyeT | 30-21 Gamn
MPEeKpacHOe 3HAHHE MPEIMETa, YMEHUE COCAUHATH 3HAHHS
U3 Ppa3IMYHBIX Pa3JeNoB Kypca, JEerko U 0e30muO04HO
WUTIOCTPUPOBATh TEOPETHUYCCKHUE TOJNIOKEHHS MPUMEpPaMH,
KaK B3STHIMH U3 Y4YeOHHMKA, TAK U CBOUMHU COOCTBCHHBIMH;
BJIaJICHUE TEPMHUHOJIOTHUCH W3 Pa3IMYHBIX pa3/eioB Kypca.
be30ommO0YHO BBHIMONHSAETCS TPAKTUYECKOE 3aJaHue K
onery.

BricTaBmisiercs 3a 0TBET, KOTOPBI JeMOHCTpHupyeT Xoportree | 20-16 6amnos
3HaHWE M TIOHUMAaHHWE M3YYEHHOT0 MaTepuala, MOJIKPEIUIEH




OpUMEpaM, B3SITBIMM M3 JIGKIUH WIM  y4eOHHKa;
JIOITYyCKAIOTCS €MHUYHBIE OIIMOKU, KOTOPBIE SK3aMEHYEMBIii
UCIIPABIISAET CaMOCTOSITEJIBHO rnociie 3aMevyaHuil
MIPENO0IaBaTelIsl.

BricTaBisiercss 3a OTBeT, KOTOpBIM OOHapykmBaeT camoe | 15-11 Gamios
o01iee TOHUMAaHUE TEOPUH, OJHAKO, IUIOXO MOAKPEIUIIEMOe
IIpaKTHYECKUMU IpuMepamu. IIpm TakoM oTBeTe CTYIAEHT
MIPOSIBIISICT HEYBEPECHHOCTD, HE BCera naér
HCUYCPIIBIBAIOIIUC apIrYMCHTHPOBAHHBIC OTBCTHI HA 3a/ITaHHBLIC
BOIIPOCHI, JTOMYCKAET OIMIMOKHK MpU pa3dope MpaKTHUIECKOTro
3aJlaHus.

BeicraBnsiercs  3a oTBeT, KOTOpblii  oOHapy»kuBaet | 10-0 6amioB
HEIIOHMMAHHE CYTH BOIIPOCA, SBISSACH MEXAaHWYECKUM
MOBTOpPEHUEM Kypca JeKIUM wWin y4eOHUKa; HE3HaHUe
TEPMUHOJIOTUH, UCKAKEHUE

CMbICIIa TOHATHHM; HEYMEHHME COOTHECTH TEOPHIO C
ITPaKTUKOM.

HTorosas mkaja oueHUBaHUSA MO JUCIHUIIMHE
Htorosas olneHKa CKJIaJbIBACTCS U3 OIEHKHU 3a BHIIOJIHEHHUS BCEX mpeayCMOTPCHHBIX
B IIporpamMme JUCHUIIIMHBI (1)OpM OTUCTHOCTH B pPaMKax TCKYLICTO KOHTPOJIA, a TaKKEe
OLICHKHU Ha HpOMe)KYTO‘{HOfI aTTeCTalu.

bannel, nonyyeHHble MO TEKyLLIEMY OueHka B TpaIMLIUOHHOM cUCTEME
KOHTPOJIIO M MPOMEKYTOUHON aTTecTalluu
81-100 OTJINYHO
61-80 XOPOIIIO
41-60 YAOBJIETBOPUTEIBHO
0-40 HE YJIOBJIETBOPUTEIHHO













